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We already learnt regarding an heir — R0 WY

OVERVIEW

X599 17 (or 7°27 17) inferred from our 7Iwn, which stated that if one bought a
dovecote he may keep it there, that we (the 17 n°2) claim on behalf of a buyer or an
heir. The X3 asked, we already learnt this rule regarding a w1 in a 7I1wn (so what
is 8"1 (or 1) teaching us?! nMoOIN clarifies the s'XM3 question.

moon responds to an anticipated difficulty:?
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And the questioner assumed that even though that the cited mw» is discussing

a WA, but presumably the same ruling applies to a nP® (that he does not require a
claim) -
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However, 1'' who also mentioned w9 (which does not appear in our 71w»), he
was depending on the 771w» later, which the Jwpn cited -
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However, from our 73w» here we would not know that w=1% 7710, since there
is a necessity for the later 7w (regarding a w ).

SUMMARY
The wpn assumed that 1191 w1 are similar however the (1"97) 1870 disagree.

THINKING IT OVER
Why indeed cannot we derive w11 from 117 and vice versa?’

! The Xm3 answered that 11 wanted (mainly) to teach us regarding a 12 (which is what our 71wn is discussing).

2 What is the X7n3 asking, X730 w; however 1" is teaching us that we argue for a nip1? also, not only for a w1°?! In
fact, this is what the X713 answers (see footnote # 1); but why is there even a question?!

3 The wpn assumed that the same logic that tells us WA 1%, that same logic applies to a NP2 as well, so what is
1" teaching us regarding a np1?, since we have a mwn that w5 11719, the same applies to a np1°.

4 The answer of the 187N (see footnote # 1) must be that 1?2 and WY are two separate issues; the fact that W
wAh, does not necessarily indicate that n19% 171310, therefore 1" wanted to infer that we are np17? 1w as well. The
question is that now that we are saying that npy?1 w1 are different and cannot be derived from each other, why did
1"7 infer from our mawn that W7 P Ap12L 1P, since our 7wy is only discussing a npY? and not a w1,

5> Mmoo may be rejecting the notion that perhaps 1" maintains (not like the Jwpn [see footnote # 3]) that we cannot
derive n177 11y from the fact that wAvh P, but the reverse is true that once we know 11?2 1%, we certainly
know that w2 Pavw (see “Thinking it over’), and not like '01n stated that 1" knows wv% 1130 from the other mwn.
6 If (as we wanted to maintain in footnote # 5) that we can derive w11> 1w from np1%% 7w, why was there a need
to write the 7awn later that w112 Pavw. This proves the neither can be derived from the other (see “Thinking it over’).
7 See nwn noma.
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